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import numpy as np
import pandas as pd

pd.__version__
'1.1.5"
~ Pandas ZiX|

v Series ZH K|

s = pd.Series([0, 0.25, 0.5, 0.75, 1.0])
s



0.00

0.25

0.50

0.75

1.00
type: float64

O ~AWMN— O

s.values

array([0. , 0.25, 0.5, 0.75, 1. 1)

S. index

Rangelndex(start=0, stop=5, step=1)

1
2
3 0.75
dtype: float64

s = pd.Series([0, 0.25, 0.5, 0.75, 1.0],
index=['a', 'b', 'c', 'd', 'e'])

a 0.00

b 0.25

c 0.50

d 0.75

e 1.00
dtype: float64

s['c']
0.5

s[['c', 'd", 'e'l]

c 0.50
d 0.75
e 1.00
dtype: float64



s = pd.Series([0, 0.25, 0.5, 0.75, 1.0],
index=[2, 4, 6, 8, 10])

2 0.00

4 0.25

6 0.50

8 0.75

10 1.00

dtype: float64
s[4]

0.25
s[2:]

6 0.50

8 0.75

10 1.00

dtype: float64
s.unique()

array([0. , 0.25, 0.5, 0.75, 1. ])

s.value_counts()

1.00
0.75
0.50
0.25
0.00
dtype: i

S5

t64

s.isin([0.25, 0.75])

2 False
4 True
6 False
8 True
10 False
dtype: bool

pop_tuple = { ' MSSEAl': 9720846,

2 AR Al 3404423,

ORI A Al 2047217,

'THR G Al 2427954,

"THEZS Al 1471040,

'Z=ZAAl 1455048}



population = pd.Ser
population

NESEA
A A
Ol F 2 A
2 Al
CHE 2 Al
EESTEN

ies(pop_tuple)

9720846
3404423
2947217
2427954
1471040
1455048

population[ ASELAl']

9720846

population[' NS EEAl': "0l

NESEA

S AR A

Ol & 2+ Al

— o M

dtype: int64

P
]

AA']

9720846
3404423
2947217

v~ DataFrame Zi K|

pd.DataFrame([{'A":2, 'B':4, 'D':3}, {'A':4, 'B':5, 'C':7}])

A B

0 2 4 3.

D C

0 NaN

1 4 5 NaN 7.0

pd.DataFrame(np.ran
column

index=

A
1 0.459657
2 0.829306
3 0.121915
4 0.314747

5 0.531377

0 Q@04 x

male_tuple = {

M o

dom.rand(5, 5),

S:[IAI’ IBI, ICI’ IDI’

(1, 2, 3, 4, 5])

B C
0.846327 0.003002
0.996998 0.133635
0.207136 0.199623
0.648947 0.828961

0.418425 0.087952

EGAI' 4732275,
ZAAl 1668618,
ZAAl' 1476813,
ZAAl' 1198815,
AN 734441,
ZAAl" 720060}

\EI]’

D
0.681628
0.622974
0.693491
0.027551

0.173818

E

0.489999

0.852390

0.947054

0.243747

0.676693



male = pd.Series(male_tuple)

male
NEEEA 4732275
SAE S A 1668618
Ol Z A A 1476813
CH=2& S Al 1198815
CH& 2 Al 734441
2= A 720060

dtype: int64

female_tuple = {' AISSYAl': 4988571,
'R A Al 1735805,
OIEZSAAl" T 1470404,
HR2ZSE Al 1229139,
'CHEZS Al 736599,

‘2= AAl 734988}
female = pd.Series(female_tuple)

korea_df.columns

female
NEEYA 4988571
S ARSI A 1735805
Ol & Z A A 1470404
2 Al 1229139
CH&Z A A 736599
ZZZAA 734988
dtype: int64
korea_df = pd.DataFrame({'@I=*4=": population,
"X male,
'O KRl 2" femalel)
korea_df
el Xl ofXjelf
MEEHA 9720846 4732275 4988571
HAZAA 3404423 1668618 1735805
OIMEHA 2047217 1476813 1470404
CHREHA| 2427954 1198815 1229139
CHEZEHA 1471040 734441 736599
ZFEIAA 1455048 720060 734988
korea_df . index
Index([' M2ELAl', 'SAZAA", "QIMZAAl",

oR



Index(['Ql32==", '&Xel24", "X 4="], dtype='object")
korea_df[' G4 KtoI 2 <="]
NEEEA 4988571
SALZEAA 1735805
Ol & ZH A Al 1470404
2 Al 1229139
& ZSA Al 736599
ZFZAA| 734988
Name: O AFQI1<4= dtype: int64
korea_df[' H2EHAl' ' QI ZAAl']
ol Xl ofXjolf
MEEHA 9720846 4732275 4988571
HAZAA 3404423 1668618 1735805
OIMEAHA| 2047217 1476813 1470404
v Index Zi 4|
A 29
Index UHEY Ol Index Z4 K| 0|0, NumPy Hi & HAlo 2 0| 0|2 B
Int64Index = 202 2% Index
Multilndex CHY =0f of 2 CHA MOl2 HESHE A S Index A (FE2| Hi St |FAD

Datetimelndex

Periodindex

7|

idx = pd.Index([2, 4, 6, 8,

idx

Int64Index([2,

idx[1]

4

idx[1:2:2]

Int64Index([4],

idx[=1::1]

Int64Index([10

4, 6, 8,

dtype='

NumPy2| datetime64 E} 2}

{HEOIHE ?

10])

101,

int64')

], dtype="int64')

23t Index

dtype='int64"')



2]

jdx[:

'int64")

Int64Index([2, 6, 10], dtype

idx)

idx.size)

idx.shape)
idx.ndim)

idx.dtype)

print

print
print
print

print

'int64')

dtype

10],

Int64Index([2, 4, 6, 8,

(5,)

int64

i)
Tl

append

difference

intersection

—_

Jofd
7l

-

ol

100
ol
ol
=T

union

muin

isin

delete

Zto] AR El A2

drop

insert

10] Btz=dS 7HX| B True

AH O
R

is_monotonic

Q10| SACHH True

AHO
=1

=i

is_unique

unique

l(Indexing)

ol A
-1 O

- 9l

s = pd.Series([0, 0.25, 0.5, 0.75, 1.0],

0.00

1.00

float64

dtype:

0.25



‘D' ins

True

s.keys()

Index(['a",

list(s.items())

s['f'] =1.25
s

.00
.25
.50
.75
.00
.25
. floate4

—_ 2 OO OO

.00
.25
.50
.75
- float64

OO O O

.00
.25
.50
.75
: floate4

s[(s >0.4) & (s <0.8)]

c 0.50
d 0.75
dtype: float64

S[[Ial’ ICI’ Iel]]
a 0.0
c 0.5
e 1.0
dtype: float64

, 'e'], dtype='object")

, ('d", 0.75), ('e',

1.0)]



v Series QI EIAl

s = pd.Series(['a', 'b', 'c', 'd", 'e'],
index=[1, 3, 5, 7, 9])

S

1 a

3 b

5 C

7 d

9 e

dtype: object
s[1]

.
s[2:4]

5 c

7 d

dtype: object
s.iloc[1]

1 b 1
s.iloc[2:4]

5 c

7 d

dtype: object

s.reindex(range(10))

0 NaN
1 a
2 NaN
3 b
4 NaN
5 c
6 NaN
7 d
8 NaN
9 e
dtype: object

s.reindex(range(10), method='bfill")

0 a
1 a



O O 00 ~NO Ok~ Wi
O OO OO O TT

type: object

v DataFrame QI =l Al

korea_df
REL LR
LR SN

re
ra
oi
12
>

m m
— - — -
[T
o oM
8L 18
>z =

oi
ml
ol
12
=

ALE HhH A%
df [val] StLtol Z 3 = o3y &l
df.loclval] 2Hgie 2 2Eet M
df.locl:, vall SHfigio 2 ZHo| 2Rt MEH
df.loclvall, val2] SO 2R Ao SRS ME
df.iloc[where] HeMoloz 20| REET MEH
df .iloc[:, where] Y Mooz o HETIDH MEH
df .iloclwhere_i, where_j] A= AMoloz 2o} Ao HEXISH MEH
df.at[label_i, label_j] ERQL Ao 2= tHY 7k el
df .iat[i, j] 20t AHO| Y= Moo= ThA ZF MEH
reindex SILE O| Mo =52 ME2 MOl 2 TjMQl
get_value, set_value ERQ ZHO|O|ECE gt MH
R4 HTAUTE OiRATL

9720846 4732275 4988571

3404423 1668618 1735805

2947217 1476813 1470404

2427954 1198815 1229139

1471040 734441 736599

1455048 720060 734988

korea_df['&XtQIR="]

NESE A
S ABO A
Ol &2 A|
CHR 2 Al
CH& 2 Al

RSN

4732275
1668618
1476813
1198815
734441
720060

Name: & AtQI21=~, dtype: int64



korea_df . & Aol 2=

NESEA
= AP Al
Ol F 2 A
2 Al
CHE 2 A

RSN

4732275
1668618
1476813
1198815
734441
720060

Name: & AtQI2==, dtype: int64

korea_df .04 XFoI 2 4=

NESEA
FAZAAl
ClEZ A Al
U=2Z Al
& Z Al

YA

4988571
1735805
1470404
1229139
736599
734988

Name: O AFQI 1<~ dtype: int64

korea_df['&0H|&"

korea_df . &0dHl=

NESEA
SARO A

Ol & ZHH A|

&
U= Al
HEZ Al
SFEAA

= (korea_df['&XQI22="] x 100 / korea_df['GdXtQIR=Z="])

94.862336
96.129346
100.435867
97.532907
99.707032
97.968946

Name: Y 0dH|2, dtype: floatb4

korea_df .values

array([

— e

korea_df.T

MEEEAl BMTAN  AHTAN  RTHA BN

> e

Lt
[=]

&t

9.72084600et06, 4.73227500et+06, 4.98857100et06, 9.48623363e+01],
3.40442300e+06, 1.66861800e+06, 1.73580500e+06, 9.61293463e+01],
2.94721700e+06, 1.47681300e+06, 1.47040400e+06, 1.00435867e+02],
2.42795400e+06, 1.19881500e+06, 1.22913900e+06, 9.75329072e+01],
1.47104000et06, 7.34441000et05, 7.36599000e+05, 9.97070319e+01],
1.45504800et06, 7.20060000e+05, 7.34988000et05, 9.79689464e+01]])

ol

2 LA

9.720846e+06 3.404423e+06 2.947217e+06 2.427954e+06 1.471040e+06 1.455048e+06

Ql 4.732275e+06 1.668618e+06 1.476813e+06 1.198815e+06 7.344410e+05 7.200600e+05

=1

korea_df.values[0]



array([9.72084600et06, 4.73227500et06, 4.98857100et06, 9.48623363et01])

korea_df[ 'l 2%="]
NZE2SEA 9720846
SoZ AN 3404423
Ol ZAA| 2947217
CH=2 2 Al 2427954
CH& 2 S Al 1471040
ZF=Z AN 1455048

Name: ©1F1==, dtype: int64

korea_df.loc[: ' QI ZHAl", ("EXoIRSL"]
ol HXtelg
ME2EYA 9720846 4732275
HAMIAA 3404423 1668618
OIMEAHA 2047217 1476813

korea_df. loc[(korea_df.0d Xt2I 22~ > 1000000) ]

olt Xl ofXjelf Hojd| &

ME2EHEA 9720846 4732275 4988571 94.862336

BHAMAAl 3404423 1668618 1735805  96.129346

OIMEHA| 2047217 1476813 1470404 100.435867

CHZSHAl 2427954 1198815 1229139  97.532907
korea_df . loc[(korea_df.2!l324= < 2000000) ]

el HXlf ofxfelqtx HojH|E

CHEEHAl 1471040 734441 736599 99.707032

TEIAA| 1455048 720060 734988 97.968946
korea_df. loc[(korea_df.Ql32== > 2500000) ]

el EXelts ofXjelfs eojd| &

MEEHA| 9720846 4732275 4988571 94.862336

HAZAAAl 3404423 1668618 1735805 96.129346

OIMEAHA| 2047217 1476813 1470404 100.435867



korea_df.locl[korea_df.&0ddl& > 100]

QR4 HRLITE OXATE  HofH|E

OIMEHA| 2047217 1476813 1470404 100.435867

korea_df.loc[(korea_df.QI24= > 2500000) & (korea_df.=0iHl& > 100)]

A7 HXRITL OfRIQITE  HolH|E

OIMAAHA| 2947217 1476813 1470404 100.435867

korea_df.iloc[:3, :2]

QR4 ROl

MEZEWA|l 9720846 4732275
HAMBAA| 3404423 1668618

re
rat
ok
19
>

2047217 1476813

~ OlOJE &

s = pd.Series(np.random.randint(0, 10, 5))
S

0 5
1 3
2 1
3 5
4 8
dtype: int64

df = pd.DataFrame(np.random.randint(0, 10, (3, 3)),
columns=['A", 'B', 'C'])
df

pd.Series([1,
s?2 = pd.Series([2,
s + s2

(2]
e
1l

3, 5, 7, 9], index=[0, 1, 2, 3, 4])
4, 6, 8, 10], index=[1, 2, 3, 4, 5])



0

1

2 9.0

3 13.0

4 17.0

5 NaN
dtype: float64

si.add(s2, fill_value=0)

.0
.0
.0
.0
.0
.0

O N W oo —

0
1
2
3 1
4 1
5 1
dtype: float64

df1 = pd.DataFrame(np.random.randint(0, 20, (3, 3)),
columns=list('ACD'))

df1
A C D
0 19 15 5
1 5 19 7
2 6 17 15

df2 = pd.DataFrame(np.random.randint(0, 20, (5, 5)),
columns=1ist('BAECD"))
df2

2 12 16 7 2 17

df1 + df2



A

W

C D E

0 350 NaN 16.0 15.0 NaN

U HE &

mok

A
T

Python ¢ 4tX} Pandas & E

+ add, radd

= sub, rsub, subtract

* mul, rmul, multiply

/ truediv, div, rdiv, divide
/! floordiv, rfloordiv

% mod

** pOW, Tpow

v ‘& (Sort)

s = pd.Series(range(5), index=['A', 'D', 'B', 'C', 'E'])
S

MAwWOMN—-O

A
D
B
C
E
dtype: int64

s.sort_index()

A 2w NNO

A
B
C
D
E
dtype: int64

s.sort_values()

MAowOMN 2O

A
D
B
C
E
dtype: int64

df = pd.DataFrame(np.random.randint(0, 10, (4, 4)),
index=[2, 4, 1, 3],

columns=1ist('BDAC'))
df



df .sort_index()

df .sort_index(axis=1)

A B C D

2 6 9 0 1

df.sort_values(by="A")

B D AC

3 6 3 1 3

df .sort_values(by=['A",

ICI])



B D AC

v &=%|(Ranking)

B0
o

H~E

HIO|Ef LHSf RIX[of et =2 X[F

first

P
=

a5 WollM =2

ol
~lu

!

dense

-4, 2, 6])

s = pd.Series([-2, 4, 7, 3, 0, 7, b,

n_/._4730754__.26

O~ AN MIT WO O©MNOWWD

int64

dtype:

s.rank()

OO IO OO OOOo
N OO MO, — < O

O~ AN M T WO O© MWD

float64

dtype:

='first')

s.rank(method

OO OO O OO OOoOo
N O OXZWOMmOMN — < O
—

O~ AN MIT OO MNOWD

float64

dtype:



'max ')

s.rank(method

OO OO O OO OOoo
N O OO MmOMNN — I o
— —

O— AN M W MWD

float64

dtype:

F

j0l
Tl

4

- HO|H

ol
K
10l
10

pd.DataFrame({

df1

df 1

or

ol

oo

or

—_

HE

-

md

KO

~N

od

RO

df2 = pd.DataFrame({

: [2012, 2016, 2019, 2020]})

df2

ml
ol
ol

=20
jor

2012

1o
oo

2016

2019

K0
=r
ol

PS

2020

<d
oF

~Na

df2)

df3 = pd.merge(df1,

df3



or

=20
jor

2012

t

=
80

RO

St
=1

1o
oo

2016

2019

t

=
ol

HE

-

md

s

KO

~N

ol

2020

df4 = pd.DataFrame({"

o
K0

df4

o
10

pd.merge(df3, df4)

=20
jor

10|

2012

t

=
80

RO

St
=1

1o
oo

1of
K0
ol

F

2019

ao

ol

2020

PSIPNI I

dfd

or
]

or

=i

Al

or

Ll

HE

-

md

[3¢)

pd.merge(df1, df5)



or
=

or

=20
jor

fojo

Eaef Y

A

or

_

HE

-

md

KO

~N

ol

pd.merge(dfi, df2, on='

or

20
jor

2012

t

=
ol

b

Lo
o0

2016

Al_i

2019

2020

RO

pd.DataFrame({'0I&":

dfé

dfé

lHo
oo

A+

Alt

KO

~N

ol

A+

oF

~O

_on="8t4", right_on="015")

left_on

pd.merge(df1, dfeé,

or

=0
jor

ol

or

HE

-

md

P

~N

ol

, axis=1)

).drop("0| 8"

="std" right_on="0I8"

left_on

pd.merge(df1, dfe6,



=20
jor

fojo

ZAZ Sk R

mdf1 = df1.set_index('&t

)

I = I
ST

(

mdf2 = df2.set_index

mdf 1

jor

=0
jor

=
for
80
\¢

o
|

iofo

mdf2

iy
o

ol

=0
jor

2019

2020

=<
oF

~O

right_index=True)

_index=True,

left

mdf2,

pd.merge(mdf1,

|
or
ol

jor

=0
jor

2012

f

=
jol
80
=0

L

o
Nl

fofo

2016

2019

2020

f

mdf1.join(mdf2)



|
jor
ol

jor

2012

f

=

80
RO

[=13
=l

o
|

fofo

)

=2
=

IOI

IH'XI",

right_on
HH',

H

=

ol

2016

2019

=True,
[ |

index

left_
2H H A
| X}
AO[Ct
714

|
(=)

dfe,

0| F
0| &

pd.merge(mdf1,

df7 = pd.DataFrame({'Ol

df8 = pd.DataFrame({'0l
Ol&=

pd.merge(df7, df8)

df7
df8

ojo
i[7]
K-

olm
i]7]
K-

0| =



"inner')

pd.merge(df7, df8, how

oo
i[7]
K-

olm
i[]
K-

o] =

AtO|Et

| R}

AlI

‘outer')

pd.merge(df7, df8, how

oo
i[7]
K

olm
i[]
K-

o] =

At et

| R}

<H

NaN

7

NaN

oF

~O

pd.merge(df7, df8, how='left")

oo
i[7]
K-

olm
1] 7]
K-

0| &

NaN

'right")

pd.merge(df7, df8, how

ol
op
K-

oln
O
K-

of

Ato|ct

I R}

Alt

711

NaN

oF

~O

R0

=1
()

df9 = pd.DataFrame({'Ol

© (3, 2, 4, 11})

df9

ol
<H

o] =

lHo
o0

~N

o0

oF

~O



2
O

~O

R0

=
() .

df10 = pd.DataFrame({ 'Ol

df10

of
<K

0| &

Lo
o0

KO

o0

oF

~O

)

=08

pd.merge(df9, df10, on

¢y

<H

oF
<H

0f

o
oo

KO

N

ol

oF

~O

1)

" g&‘ll

|j||l’

([N
_

[

, suffixes

=08

pd.merge(df9, df10, on

1o
oo

<H

KO

~N

ol

oF

~O

o1 AF

- HO|H &AL A&

v & A ALb(Aggregation)

B0
i

A

K| 7H =

VS
At

count

300

head, tail

Series, DataFrame

describe

min, max

cummin, cummax

ol /%]

H

=T

b CH k2l

]
<
NG

4
3!

argmin, argmax



Jp

CL:

mean, median
std, var

skew

kurt

mad

sum, cumsum
prod, cumprod
quantile

diff
pct_change

corr, cov

df = pd.DataFrame([[-1.2, 1.2, 2.1],
[2.4, 5.5, -4.2],

[0.4, -4.3, -1.3],
[3.2, 3.1, -4.111,
index=[1, 2, 3, 4],

H & HX}(Standard deviation), &=4(Variance)
ol = (skewness) %t Al At

M = (kurtosis) gt Al A

Hrff B X} (Mean Absolute Deviation)

HA g2 3

o

ok
1
o

L
)y T

o gd= & 75

id

05 H 17tX|2] 22l ALt
1R b AF AL

HME g}

o

|A

—
g, S22 AL

columns=['A", 'B', 'C'])

df
A B C
1 12 12 21
2 24 55 -42
3 04 43 -13
4 32 31 -4A1
df .head(2)
A B C
1 12 12 21
2 24 55 -42
df.tail(2)
A B C
3 04 43 -1.3
4 32 31 -41

df .describe()



A
count 4.000000e+00
mean 1.200000e+00

std 1.986622e+00
min  -1.200000e+00
25% 5.551115e-17
50%  1.400000e+00
75%  2.600000e+00

max  3.200000e+00

print(df)

B
4.000000
1.375000
4172429

-4.300000
-0.175000
2.150000
3.700000

5.500000

print(np.argmin(df), np.argmax(df))

A B C

1-1.2 1.2 2.1

2 2.4 55-4.2

3 0.4-4.3-1.83

4 3.2 3.1 4.1
7 4
print(df)

print(df.idxmin())
print(df.idxmax())

A B C
1-1.2 1.2 2.1
2 2.4 55-42
3 0.4-4.3-1.3
4 3.2 3.1 4.1
A 1
B 3
C 2
dtype: int64
A 4
B 2
C 1
dtype: int64

print(df)

print(df.std())
print(df.var())

@D > WN —

C
4.000000
-1.875000
2.971391
-4.200000
-4.125000
-2.700000
-0.450000

2.100000



C 2.971391
dtype: float64

A 3.946667
B 17.409167
C 8.829167

dtype: float64

print(df)
print(df.sum())
print(df.cumsum())

A B C
1-1.2 1.2 2.1
2 2.4 55-4.2
3 0.4-4.3-1.3
4 3.2 3.1 4.1
A 4.8
B 5.5
cC -7.5
dtype: float64

A B C
1-1.2 1.2 2.1
2 1.2 6.7 -2.1
3 1.6 2.4-3.4
4 48 55-7.5

print(df)

print(df.prod())
print(df.cumprod())

(.v.)Of\)—k
N##T\D>
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|
-l>—k-l>l\)
— WN = O

-87.9780
-47.0106
type: float64
A B C
1 -1.2000 1.200 2.1000
2 -2.8800 6.600 -8.8200
3 -1.1520 -28.380 11.4660
4 -3.6864 -87.978 —47.0106

1 -
2
3
4
A —3 6864
B
C
d

df.diff()

1 NaN NaN NaN



df.corr()

A

A 1.000000
B 0.537256
C -0.973511

df .corrwith(df.B)

A 0.537256
B 1.000000
C -0.467484
dtype: float64

v GroupBy &4t

df = pd.DataFrame({'c1':['a', 'a',

'@

B C

0.537256 -0.973511
1.000000 -0.467484
-0.467484 1.000000
lbl, Ib

2I:[IAI’ IBI’ IBI’ IA
'c3':np.random.randint(
'c4' :np.random.random(7

df
cl c2 c3
0 a A 6
1 a B 6
2 b B 6
3 b A 6
4 ¢ D 6
5 d C 6
6 b C 6
df .dtypes
c object
c2 object
c3 inte4
oz float64

dtype: object

c4

0.060141

0.915126

0.056689

0.692056

0.129076

0.932201

0.126522

df['c3'].groupby(df['c1']).mean()

c1

|
’

7
)

)
)

’

)



DD O OO O

a
b
c
d
Name: c3, dtype: int64

df['c4'].groupby(df{'c2']).std()

c2

A 0.446831
B 0.607007
C 0.569701
D NaN

Name: c4, dtype: float64

df['c4'].groupby([df['c1'], df['c2"']]).mean()

N

cl
a 0.060141
0.915126
0.692056
0.056689
0.126522
o 0.129076
d 0.932201

Name: c4, dtype: float64

b

OO O mM> @ >0

df['ca'].groupby([df['c1'], df['c2']]).mean().unstack()

c2 A B C D
cl

a 0.060141 0.915126 NaN NaN
b 0.692056 0.056689 0.126522 NaN
c NaN NaN NaN 0.129076
d NaN NaN 0.932201 NaN

df .groupby('c1') .mean()

c3 c4
cl
a 6 0487634
b 6 0.291756
c 6 0.129076

d 6 0.932201



df .groupby(['ct', 'c2']).mean()

c3 c4

cl c2
a A 6 0.060141
B 6 0.915126
b A 6 0.692056
B 6 0.056689
C 6 0.126522
c D 6 0.129076
d C 6 0.932201

df .groupby(['ct', 'c2']).size()

N

c
d
dtype: int

o
OO O D> m®™m >0

O — —

4

for c¢1, group in df.groupby('c1'):
print(cl)
print(group)

cl c2 c3 c4
0 a A 6 0.060141
1 a B 6 0.915126
b

¢l c2 c3 c4
2 b B 6 0.056689
3 b A 6 0.692056
6 b C 6 0.126522
c

¢l c2 c3 c4
4 ¢ D 6 0.129076
d

cl c2 c3 c4
5 d C 6 0.932201

for (c1, ¢2), group in df.groupby(['ct', 'c2']):
print((ct, c2))
print(group)

(Ial, IAI)
cl c2 ¢3 c4



a A 6 0.060141

2 ¢3 c4
B 6 0.915126

2 ¢3 c4
A 6 0.692056

2 ¢3 c4
B 6 0.056689

2 ¢3 c4
C 6 0.126522

2 ¢3 c4
D 6 0.129076

2 ¢3 c4
C 6 0.932201

df.groupby(['c1', 'c2'])[['c4']].mean()

c4

cl c2
a A 0.060141
B 0.915126
b A 0.692056
B 0.056689
C 0.126522
¢ D 0.129076
d C 0.932201

df .groupby('c1')['c3'].quantile()

c1

DD O OO O
OO OO

a
b
c
d
Name: ¢3, dtype: float64
df .groupby('c1')['c3'].count()
cl
a 2
b 3
c 1
d 1
N

ame: ¢3, dtype: int64



df .groupby('c1')['c4"] .median()

cl
a 0.487634
b 0.126522
c 0.129076
d 0.932201
N

ame: c4, dtype: float64

df .groupby('c1')['c4'].std()

1
0.604566
0.348424
NaN
NaN

= 0O O T o O

ame: c4, dtype: float64

df .groupby(['c1', 'c2']1)['c4'].agg([ 'mean’,

mean

cl c2

a A 0.060141
B 0.915126

b A 0.692056
B 0.056689
C 0.126522

c D 0.129076

d C 0.932201

df .groupby(['c1', 'c2'],

min

0.060141

0.915126

0.692056

0.056689

0.126522

0.129076

0.932201

cl c2 c4
0 a A 0.060141
1 a B 0915126
2 b A 0.692056
3 b B 0.056689
4 b C 0.126522
5 ¢ D 0.129076
6 d C 0.932201

max

0.060141
0.915126
0.692056
0.056689
0.126522
0.129076

0.932201

‘min

, 'max'])

as_index=False)['c4'].mean()



df .groupby(['c1', 'c2'],

group_keys=False)['c4d'].mean()

cl c2

a A 0.060141
B 0.915126

b A 0.692056
B 0.056689
C 0.126522

c D 0.129076

d C 0.932201

Name: ¢4, dtype: float64

v I|H H|O|=(Pivot Table)
e Y
values TASIHE ZE O|E Z2 0|E9| 2[AE J7|2X80o 2 R E =X ZAE T
index OHHO|EC ERE AECE RF2 ZH O|F0|Lt & 7|
columns O HHO|Z2C ZE2 IECE F2 ZH 0|E0|Lt O & 7|
aggfunc A Lt e 2[AE 7| 24592 mean O] AHE
fill_value Z1HO|S0|M FEE Zf CHNE T af
dropna TrueQl H2 2= &50| NAQ ZEH 2 ZASIX| U S
margins S E2S0|Lt BAE 27| et 2/Z2E FIH 8. 7| 2442 False
df .pivot_table(['c3", 'c4'],
index=['c1'],
columns=['c2'])
c3 ca
c2 A B C D A B C D
cl
a 6.0 6.0 NaN NaN 0.060141 0.915126 NaN NaN
b 6.0 6.0 6.0 NaN 0.692056 0.056689 0.126522 NaN
¢ NaN NaN NaN 6.0 NaN NaN NaN 0.129076
d NaN NaN 6.0 NaN NaN NaN 0.932201 NaN

df .pivot_table(['c3", 'c4'],
index=['c1'],
columns=['c2'],
margins=True)



c3 c4

c2 A B C D All A B C D All
cl
a 6.0 6.0 NaN NaN 6 0.060141 0.915126 NaN NaN 0.487634

df .pivot_table(['c3", 'c4'],
index=['c1'],
columns=['c2'],
margins=True,
aggfunc=sum)

c3 c4
c2 A B C D All A B C D All
cl
a 6.0 6.0 NaN NaN 12 0.060141 0.915126 NaN NaN 0.975267
b 6.0 6.0 6.0 NaN 18 0.692056 0.056689 0.126522 NaN 0.875267
¢ NaN NaN NaN 6.0 6 NaN NaN NaN 0.129076 0.129076
d NaN NaN 6.0 NaN 6 NaN NaN 0.932201 NaN 0.932201

All 120 120 120 6.0 42 0.752197 0971815 1.058723 0.129076 2.911811

df .pivot_table(['c3', 'c4'],

index=['c1'],

columns=['c2'],

margins=True,

aggfunc=sum,

fill_value=0)

c3 c4

c2 A B C D All A B C D All
cl
a 6 6 0 0 12 0.060141 0.915126 0.000000 0.000000 0.975267
b 6 6 6 0 18 0.692056 0.056689 0.126522 0.000000 0.875267
c 0O O O 6 6 0.000000 0.000000 0.000000 0.129076 0.129076
d 0O 0 6 O 6 0.000000 0.000000 0.932201 0.000000 0.932201

All 12 12 12 6 42 0.752197 0.971815 1.058723 0.129076 2.911811

pd.crosstab(df.c1, df.c2)



c2 A B CD
cl

a 1100
b 11 10

c 0 0 0 1

pd.crosstab(df.c1, df.c2, values=df.c3, aggfunc=sum, margins=True)

c2 A B C D All
cl

a 6.0 6.0 NaN NaN 12
b 6.0 60 6.0 NaN 18
¢ NaN NaN NaN 6.0 6
d NaN NaN 6.0 NaN 6

All 120 120 120 6.0 42

~ HIOlH gHX

e

. iR Eo| AR HO|ESS ML &0 Fatgtso| Zxf
7

o« MZ CtE H|O|E =2 CHE HES| 252 77
e ZZGO|E{&= null, NaN, NA 2 H7|

v None: I}O|"M &} G| O] &

a =np.array([1, 2, None, 4, 5])
a

array([1, 2, None, 4, 5], dtype=object)

#a.sum()
v NaN: +=2FEl =X| {| 0|

a =np.array([1, 2, np.nan, 4, 5])
a.dtype

dtype('float64')



0 + np.nan

nan

np.nan + np.nan

nan

a.sum(), a.min(), a.max()

(nan, nan, nan)

np.nansum(a), np.nanmin(a), np.nanmax(a)

(12.0, 1.0, 5.0)

pd.Series([1, 2, np.nan, 4, Nonel)

0 1.0
1 2.0
2 NaN
3 4.0
4 NaN
dtype: float64

s = pd.Series(range(5), dtype=int)
S

0 0

1 1

2 2

3 3

4 4

dtype: int64
s[0] = None
S

0 NaN

1 1.0

2 2.0

3 3.0

4 4.0

dtype: float64

s[3] = np.nan

s = pd.Series([True, False, None, np.nan])
S



0
1
2 None
3
dtype: object

~ Null 2t 2|

It

isnull()
notnul | ()
dropna()

fillna()

s = pd.Series([1, 2, np.nan,
S

0 1
1 2
2 NaN
3 String
4 None
dtype: object

s.isnull()

0 False
1 False
2 True
3 False
4 True
dtype: bool

s[s.notnul I ()]

0 1
1 2
3 String
dtype: object
s.dropna()
0 1
1 2
3 String
dtype: object

df .dropna(axis='columns')

S ALENAQ 4HE =2 gt = et

issul I() 2 EtCH

+2HE HO|H 7t A= & W2
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'String', Nonel)

ZHS CHMISEALE i1l O|L} bfil 2 EZHHAE M2



cl c2 c3

0 a A 6
1 a B 6
2 b B 6
3 b A 6
4 ¢ D &6

3
a
O
»

cl c2 c3

w
o

o o o » w w >»
o

c4
0.060141
0.915126
0.056689
0.692056
0.129076

0.932201

c4
0.060141
0.915126
0.056689
0.692056
0.129076
0.932201

0.126522

NaN

NaN

NaN

NaN

NaN

NaN

NaN

df .dropna(axis='columns', how='all")

cl c2 c3
0 a A 6
1 a B 6
2 b B 6
3 b A 6
4 ¢ D &6
5 d C 6
6 b C 6

df .dropna(axis='rows",

c4
0.060141
0.915126
0.056689
0.692056
0.129076
0.932201

0.126522

thresh=3)



0 a A ©6
1 a B 6
2 b B 6

0 1
1 2
2 NaN
3 String
4 None
dtype: object

s.fillna(0)

ON —

0

0
1
2
3 String
4
dtype: object

ca4

0.060141

0.915126

0.056689

N RO2NKRAR

s.fillna(method="ffill")

0 1
1 2
2 2
3 String
4 String
dtype: object

s.fillna(method="bfill")

df

0 1
1 2
2 String
3 String
4 None
dtype: object

NaN

NaN

NaN

NiaNI



cl c2 c3

ca4

0 a A 6 0.060141

3

NaN

1 a B 6 0915126 NaN

2 h =] R N NERRQO

df.fillna(method="ffill"', axis=0)
cl c2 c3 c4
0 a A 6 0.060141
1 a B 6 0915126
2 b B 6 0.056689
3 b A 6 0.692056
4 ¢ D 6 0.129076
5 d C 6 0.932201
6 b C 6 0.126522
df .fillna(method="ffill"', axis=1)
cl c2 c3 c4
0 a A 6 0.0601408
1 a B 6 0915126
2 b B 6 0.0566891
3 b A 6 0.692056
4 ¢ D 6 0.1290076
5 d C 6 0.932201
6 b C 6 0.126522
df . fillna(method="bfill", axis=0)

NlAaNI

NaN

NaN

NaN

NaN

NaN

NaN

NaN

3

0.0601408

0.915126

0.0566891

0.692056

0.129076

0.932201

0.126522



cl c2 c3 c4 3

df.fillna(method="'bfill', axis=1)

cl c2 c3 c4 3

0 a A 6 0.0601408 NaN

1 a B 6 0915126 NaN

2 b B 6 0.0566891 NaN

3 b A 6 0.692056 NaN

4 ¢ D 6 0.120076 NaN

5 d C 6 0.932201 NaN

6 b C 6 0.126522 NaN
- 52/

df = pd.DataFrame({'c1': ['a', 'b', '¢'] *2+ ['b'] + ['c'],
‘c2': [1, 2, 1,1, 2,3, 3, 41})

df

cl c2
0 a 1
1 b 2
2 ¢ 1
3 a 1
4 b 2
5 ¢ 3
6 b 3
7 ¢ 4

df .duplicated()

0 False
1 False
2 False
3 True
4 True
5 False
6 False
7 False
dtype: bool



df .drop_duplicates()

cl c2
0 a 1
1 b 2
2 ¢ 1
5 ¢ 3
6 b 3
7 ¢ 4

AENE

s = pd.Series([1., 2., -999., 3., -1000., 4.])
S

0 1.0
1 2.0
2 -999.0
3 3.0
4 -1000.0
5 4.0
dtype: float64

s.replace(-999, np.nan)

0 1.0
1 2.0
2 NaN
3 3.0
4 -1000.0
5 4.0
dtype: float64

s.replace([-999, -1000], np.nan)

0 1.0
1 2.0
2 NaN
3 3.0
4 NaN
5 4.0
dtype: float64

s.replace([-999, -1000], [np.nan, 0])

0 1.0
1 2.0
2 NaN



3 3.0

4 0.0

5 4.0

dtype: float64
HOEH

e Pandas AO| E.: https:/pandas.pydata.org/
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